h'rtp://l30.149.60.45l~farbmetr|k/SF30/SF30L0N1.TX'I'V 1.PS; sortie de plpoduction

N: aucun linearisation 3D (OL) dans fichier (F) ou PS-startup (S), page 1/1
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rgb', and CIE data of a elementary (¢) hue circle
according to CIE R1-47:2009 forsRGBdisplay L, =0%

rgb, and CIE data of a elementary (e) hue circle
according to CIE R1-47:2009 forsRGBdisplay L, =0%

16 step elementary hue circle with hueshas o= 25, 92, 162,271 | 3 colours of the elementary hUeRYGE hap a.e= 25, 92, 162, 271
@ae Dae Clanac Mave fOb%e Code Use @%ae bac Clanae Mane 1ob'e
781 371 864 254 10000000 ROO%=R, 509 781 371 864 254 1000000
719 652 971 421 10002500 0SR+05N. 254 390 185 432 254 0500000
427 707 826 588 10005000 OSR+OSW 731 390 185 432 254 1000500,
197 767 792 755 10007500
34 842 843 923 10010000 YOOG=Y, 836 -34 842 843 923 1001000,
-318 835 940 1097 07510000 05%+0SN 418 -17 421 421 923 0500500
630 827 10401272 05010000 05%+0SW 895 17 421 421 923 1001000
766 541 938 1447 0.251000.
42 205 674 1622 00010000 GOOB, -642 205 674 1622 0001000,
-495 -84 502 1896 0001000§ 05G+0SN.425 -321 102 337 1622 0.000500.
339 256 425 2170 00010010 05G+05W902 -321 102 337 1622 0501000,
188 301 434 2442 000050
17 560 561 2717 0000001 BOOR=8, 593 17  -560 561 2717 0000001
525 903 1044 3001 0500001 0SB+OSN. 296 08 280 280 27L7 0.000000.
942 574 110.4 3286 10000010 OSB+OSWT7.4 08 280 280 2717 0500501
823 -42 824 3570 1000.000.

5 step equidistant grey scalet* ¢ = 0.0, 238, 47.7, 715, 95.4 5 step equiistant ey scalet* ¢ = 0.0, 238, 47.7, 715, 95.4
@ae Dae Clanae Mane 1O Code Lae @'ae Dlae Clanae Mabe fob%e
00 00 00 00 00000000f NOX 00 00 00 o 00000f
00 00 00 253 02502502 NG2SW, 238 00 00 00 3253 02502502
00 00 00 3251 05005005 NOSOW, 477 00 00 00 3251 05005005
00 00 00 251 07507507 NO7SW, 714 00 00 00 3251 07507507

NIOOW=W, 954 00 00 100 1.00 1.0}

NIOOW=W,954 00 00 00 00 10010010

rgb', and CIE data of a elementary (¢) hue circle
according to CIE R1-47:2000 forsRGBdisplay L, =1,2%

16 step elementary hue circle with huedigs o= 26, 92, 162, 271

code Vae @ae bae Clarae Mane fab'e
ROOY,=R, 520 752 359 834 254  10000000)
R25Y, 550 645 584 870 421 10002500)
RSOY, 645 396 657 767 588 10005000}
R7SY, 734 185 726 750 755 10007500}
Y0G=Y, 837 -32 807 87 %23 10010000
Y256 910 -308 86 910 1098 0751000,
Y506, 862 -607 798 1003 1272 0501000;
¥I5G, 842 750 530 L9 1447 0251000
GOOR,=G, 853 -628 201 660 1622 0001000
G258, 873 486 -2 493 1895 0001000,
GS08, 794 333 250 417 2169 0001001
G758, 705 183 384 426 2444 0000501
BOOR,=B, 601 16 -548 548 2717 0000001
B2SR. 394 514 834 1023 3001 0500001
BSOR, 581 916 559 10733286 1000001
B7SR, 535 795 40 797 3570 1000000,
5 step equidistant grey scalet* = 10.9,32.0,53.2, 74.3,95.4

Lae e Dac Clabae Mane 1%

109 00 00 00 00 00000000

3255 02502502
3255 05005005
3235 07507507

100 1.00 1.0}

NIOOW =W, 954 00 00 00

g, and CIE data of a elementary (¢) hue circle
‘according to CIE R1-47:2009 forsRGBdisplay L,

2%

3 colours ofthe elementary hueRYGE: Nap a.e= 25, 92, 162, 271

code Lae @ac Dae Clanae Mane 1%

ROOY,=R, 520 752 359 834 254  10000000)
OSR*OSN 315 376 179 417 254 05000000
0SR+0SW 737 376 1719 417 254 10005005
YO0G=Y, 837 -32 807 87 %23 10010000
05%+05N, 473 16 403 403 923 05005000
05%+05W 895 16 403 403 923 10010005
GOOR,=G, 853 -628 201 660 1622 0001000
05G+05N. 481 -314 100 330 1622 0000500
05G+05W 003 314 100 330 1622 0501000,
BOOR,=B, 601 16 -548 548 2717 0000001
05B+05N. 355 08  -27.4 274 2717 0000000,
0SB OSW77.7 08  -27.4 274 2717 0500501

5 step equidistant grey scalet* = 10.9,32.0,53.2, 74.3,95.4
code Lae hane  obe
NOOOW,=N, 109 00 00 00 00 00000000

NOZSW, 321 00 00 00 3255 02502502
NOSOW, 531 00 00 00 3255 05005005
NOTSW, 742 00 00 00 3235 07507507

NIOOW=W, 954 00 00 00 00 10010010

SF300-3N, LABTa0, adapted=rot adapted

SFI00-4N, LABTa0, adapied=not adap

SFI0I-3N, LABTaz, adapted-=rot adapted

SFI0T-aN, LABTaz, adape

dny no ap weq'sd-mmmy/:
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rgb, and CIE data of a elementary (e) hue circle

according to CIE R1-47:2009 forsRGBdisplay L, =0,6%

16 step elementary hue circle with huedhys o= 25, 92, 162, 271

Code Lae @ae bae Clavae Mave mb%
ROOG=R, 514 766 365 849 254 1000000
RS, | 58 677 613 913 421  10002500)
RSOY, 638 4Ll 680 795 585 10005000
RIS, 731 191 746 720 755  10007500)
V0G=Y, 836 32 24 824 922 1001000
vBG 909 313 871 925 1097 0751000.
Y50, 851 618 812 10211272 0501000
Y756 B4l 758 535 929 1847 0251000
GWOR=G. 852 635 203 667 1622 0001000
GasE | 872 491 B2 498 1895 0001000,
G50, 792 -5 253 421 2170 0001001
GTSE 03 -186 388 430 2443 0000501
BIOR=B, 507 17 554 554 2717 0000001
B25R, 389 520 -84 1034 201 0500001
BSR, 577 920 567 1088 3286 1000001
B7SR, 550 809 -4l 810 3570 1000000
5 step equicistant rey scalet*, = 5.6, 26.1, 505, 729, 95.4

Uae @ae Dae Clabae Mave 1eb'e
NODOW =N, 56 00 00 00 00 00000000

NOZSW. 281 00 00 00 3251 02502502
NOSOW, 505 00 00 00 3248 05005005
NOTSW, 730 00 00 00 3237 07507507

NIOOW,=W, 954 00 00 00 00 10010010

rgb, and CIE data of a elementary (e) hue circle
according to CIE R1-47:2009 forsRGBdisplay L, =0,6%

3 colours ofthe elementary hueRYGE; hap .o~ 25, 92, 162, 271
Code Use @%ae bac Clanae Mane 100

ROOY,=R, 514 766 365 849 254 1000000
05R,+05N, 285 383 182 424 254  0500.000.
05R,+0SW734 383 182 424 254 1000500
YO0G=Y, 836 -32 24 84 922 1001000
05Y+05N, 446 -16 412 412 922 0500500
05Y,+05W,895 -16 412 412 922 1001000
GO0R,=G, 852 -635 203 667 1622 0001000,
05G+05N 454 -317 101 333 1622 0000500,
05G,+05W903 -317 101 333 1622 0501000,
BOOR,=B, 597 17 -S54 554 2717 0000001
056,405\, 327 08 217 277 2717 0000000
05B,+0SW 776 08 217 277 2717 0500501

5 step equidistant grey scalet* o= 5.6, 26.1, 50.5, 729, 95.4
Code Use @'ae D'ag Clanae Mabe 0b%e
NOOOW,=N, 56 00 00 00 00

No25W, 281 00 00 00
NOSOW, 505 00 00 00
NOZSW, 730 00 00 00

NIOOW,=W,954 00 00 00 00 10010010

rgb, and CIE data of a elementary (e) hue circle

according to CIE R1-47:2000 forsRGBdisplay L, =2,5%

16 step elementary hue circle with huesnys o= 25, 92, 162, 271

Code Vae @ae D'ae Clanae Mane 190%e

ROOY.=R, 530 726 345 804 254  10000000)
R25Y, 71 595 539 803 421 10002500
RS0, 657 373 617 721 588 10005000}
R7SY, 740 177 690 712 756 10007500}
YOG=Y, 838 30 774 775 922 10010000)
v25G, | 912 209 830 882 1098 0751000,
Y506, 865 587 T71 969 1272 0501000
Y156 844 735 519 900 1447 0251000,
GOOR=G, 854 615 197 646 1621 0001000,
G2%B, 874 417 -80 484 1895 0001000,
GS0B, 797 326 -246 408 2170 0001001
G7SB, 711 180 -375 416 2443 0000501
BOOR,=B, 609 16  -535 536 27.7 0000001
B25R, 405 503 866 1002 3001 0500001
BSOR, 500 891 -544 1044 3286 1000001
B7SR, 545 771 -40 772 3570 1000000,
5 step equidistant grey scalet* = 18.0, 37.3, 56.7, 76.0, 95.4

e ‘e Tae Dac Clabae Mave 0

NOOOW=N, 180 00 00 00 00 00000000
Nozs 373 00 00 00 3253 02502502
NOSOWL 567 00 00 00 3248 05005005
No7s 761 00 00 00 3237 07507507
NIOOW=W, 954 00 00 00 00 10010010

rgb, and CIE data of a elementary (€) hue circle

according to CIE R1-47:2000 forsRGBdisplay L, =2,5%

3 colours of the elementary hUeRYGE N o 25, 92, 162, 271,

Code Uae @ac D'ac Clapae Mane 10%

RODY,=R, 530 726 345 804 254 10000000)
05R+0SN, 355 363 172 402 254 05000000
0SR+0SW 742 363 172 402 254 10005005
Y00G=Y, 838 -30 774 775 922 10010000)
05%+05N 509 15 387 387 922 05005000
05%,+05W 896 15 387 387 %22 10010005
GO0B=G. 854 -615 197 646 1621 0001000,
05G+05N 517 307 98 323 1621 0000500,
05G+05W0.4 307 98 323 1621 0501000.
BOOR=B, 609 16 535 536 2717 0000001
05B,+05N, 9.4 08 267 268 2717 0000000,
05B+0SW 781 08 267 268 2717 0500501

5 step equidistant grey scalet*, = 18.0, 37.3, 56.7, 76.0, 85.4
Lae @ae D'ae Clapae Mane 10%

NODOW,=N, 180 00 00 00 00 00000000

NOZSW 373 00 00 00 3253 02502502

57 00 00 00 3248 05005005

761 00 00 00 3237 07507507

NIOOW=W, 954 00 00 00 00 1001001
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SFI00-7N, [ABTal adapted=rot adapted

TUB-test graphique SF30; CIE data SRGB display

SFI00-BN, (ABal,

SFI0T-7N, [ABTa3, adapted=rot adapted

"SFI01-8N, LABTa3, adapied=not adapted

entréew/rgb/cmyk —> w/rgb/cmyk

elementary hue circle; mixture colours; Lr=0to 2,5%  sortie: aucun changement
T L v L] T




